INTERPRETING PIE CHARTS
1.  90 people’s favourite colour
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	Favourite colour
	Degrees
	Value

	Red
	1800
	

	Yellow
	360
	9

	Blue
	720
	

	Green
	720
	

	1 person = ___ degrees
	
	


2.  Type of pet that 60 people had
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	Pet
	Degrees
	Value

	Dog
	1800
	

	Cat
	360
	

	Budgie
	360
	

	Goldfish
	360
	

	Other
	
	

	1 person = ____ degrees
	
	


3. Favourite football team of 120 people
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	Favourite team
	Degrees
	Value

	Liverpool
	
	

	Man Utd
	
	

	Arsenal
	
	

	1 person = ___ degrees
	
	


4. Make of ____ cars
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	Make of car
	Degrees
	Value

	Ford
	1440
	

	Nissan
	900
	

	Rover
	720
	8

	Vauxhall
	
	

	Other
	360
	

	1 person = ____ degrees
	
	


5. Favourite drink of 80 people
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	Drink
	Degrees
	Value

	Tea
	900
	

	Coffee
	1800
	

	Coke
	360
	

	Lemonade
	
	

	Other
	180
	

	1 person = ____ degrees
	
	


EXTENSION QUESTIONS

5a) What fraction of people said Tea was their favourite drink?
5b) What fraction of people said Lemonade was their favourite drink?

5c) What percentage of people said Coffee was their favourite drink?
5d) What percentage of people said Other was their favourite drink?

5e) What is the probability that a person, chosen at random, said their favourite drink is Coke?

5f)  How many of the people asked said that Coke or Lemonade was their favourite drink?
6. How 30 people travel to school
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	Transport
	Degrees
	Value

	Bus
	
	15

	Walk
	
	3

	Car
	
	6

	Other
	
	

	1 person = ____ degrees
	
	


EXTENSION QUESTIONS

6a) Explain how you know how many people travel to school in ‘Other’ ways
6b) What is the probability that a person, chosen at random, travels to school by Car? Simplify your answer if possible.

6c) What percentage of people travel to work by walking?

6d) If 300 people had completed the survey, how many people would you expect to travel to work by Bus? Show your working.

6e) If 150 people had completed the survey, how many people would you expect to travel to work by Car? 

6f) Why will your answer to 6e) not definitely be true?

Answers – Mark your partners work using these
1.  90 people’s favourite colour
	Favourite colour
	Degrees
	Value

	Red
	1800
	45

	Yellow
	360
	9

	Blue
	720
	18

	Green
	720
	18

	1 person = 4 degrees
	
	


2.  Type of pet that 60 people had

	Pet
	Degrees
	Value

	Dog
	1800
	30

	Cat
	360
	6

	Budgie
	360
	6

	Goldfish
	360
	6

	Other
	720
	12

	1 person = 6 degrees
	
	


3. Favourite football team of 120 people

	Favourite team
	Degrees
	Value

	Liverpool
	900
	30

	Man Utd
	1800
	60

	Arsenal
	900
	30

	1 person = 3 degrees
	
	


4. Make of ____ cars

	Make of car
	Degrees
	Value

	Ford
	1440
	16

	Nissan
	900
	10

	Rover
	720
	8

	Vauxhall
	180
	2

	Other
	360
	4

	1 person = 9 degrees
	
	


5. Favourite drink of 80 people
	Drink
	Degrees
	Value

	Tea
	900
	20

	Coffee
	1800
	40

	Coke
	360
	8

	Lemonade
	360
	8

	Other
	180
	4

	1 person = 4.5 degrees
	
	


EXTENSION QUESTIONS

5a) What fraction of people said Tea was their favourite drink? 20/80 = 1/4
5b) What fraction of people said Lemonade was their favourite drink? 40/80 = 1/2
5c) What percentage of people said Coffee was their favourite drink? 50%
5d) What percentage of people said Other was their favourite drink? 5%
5e) What is the probability that a person, chosen at random, said their favourite drink is Coke?

8/80 = 1/10
5f)  How many of the people asked said that Coke or Lemonade was their favourite drink? 20
6. How 30 people travel to school

	Transport
	Degrees
	Value

	Bus
	1800
	15

	Walk
	360
	3

	Car
	720
	6

	Other
	720
	6

	1 person = 12 degrees
	
	


EXTENSION QUESTIONS

6a) Explain how you know how many people travel to school in ‘Other’ ways.
15+3+6 = 24 30 -24 = 6

6b) What is the probability that a person, chosen at random, travels to school by Car? Simplify your answer if possible. 6/30 = 1/5
6c) What percentage of people travel to work by walking? 10%
6d) If 300 people had completed the survey, how many people would you expect to travel to work by Bus? Show your working. 300/30 = 10, 10 x 15 = 150.
6e) If 150 people had completed the survey, how many people would you expect to travel to work by Car?  150/30 = 5, 5 x 6 = 30.
6f) Why will your answer to 6e) not definitely be true? It is only an estimate
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